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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Sem-I [Common] examination January 2009

Subject code: 310002 Subject Name: Applied Science-l (Physics)
Date: 10/01/2009 Time: 11:00am-1:30pm
I nstructions: Total Marks:70

1. Attempt all questions.
2. Makesuitable assumptions wherever necessary.
3. Figurestotheright indicate full marks.
Q.1 Answer the following 14
Explain pitch of a micrometer screw gauge aatests formula for least count measurement
Define surface tension in terms of surface gnerg
State any four applications of ultrasonic sound
State factors affecting on reverberation of sbun
Define refractive index of light in referencevaflocity
Write full form of LASER
State the names of the materials used in flcergs
Fill in the blanks 07
Sl unit of the force is (JoNkwton, Kg)
a rays is flow of nucleus (H, He, N)
B rays has charge (positive, negative)
Magnifying power of simple microscope dependsrup (Do, Di, F)
Coolidge tube is used for the production of (LASER, X-rays)
As temperature of liquid increases its surfaosion _ (increases, decreases, not changes)
1 A unit = meter (10108, 10°)
Answer any two of the following 07
Write short note on Ruby LASER
Draw a diagram of nuclear reactor and mentioioua parts of it
Explain any one method for the production ofagbnic sound
Explain how to measure surface tension of any didpyi capillary tube 05
State sebine’s law for reverberation of sound @xplain all terms used in the formula 05
1. State unit of focal power of lens 04
2. Write the relation between half life time and aggréife time of radio active element
OR
Prove formula T=h*r*d*g/2Co% for surface tension of liquid 05
Explain the difference between longitudinal arahsverse waves of sound 05
1. Define adhesive force 2. Second 04
Explain properties af, p andy rays 05
Draw the figure of micrometer screw and mentranous parts of it 05
1. State Sl unit of temperature 2. deffllogram 04
OR
Explain mass defect and binding energy 05
Draw the figure of vernier caliper and statefaisnula for LCM 05
1. Derive Sl unit of momentum 2at8tS| unit of current 04
Calculate the rise of liquid d (0.85x1Ky.ni°) in a capillary tube if = angle of contactis 05
0°, r = radius of capillary tube is 0.20 mm, T = sué tension of liquid is 0.0156 N/m
For a given concave lens Do = 60 cm, and DiG-cid; calculate focal length of lens 05
1. Define adhesive force 2. Show the refatietween frequency and wavelength 04
OR
Q.5 A Calculate binding energy of He nucleus given thainfass of helium nucleus = 4.001265 05
amu (b) mass of proton = 1.007277 amu (c) masewton = 1.008666 amu (d) 1 amu =
931.48 MeV
B A town hall of volume 2500 frhas a reverberation time 2 second. If the totabseiing 05
surface area in the hall is 1666, rdetermine co-efficient of absorption of sound
C 1. Define interference of light 2. stany four applications of LASER 04

Q.2

Q.2

Q.3

OWPDPWNRINOUMWNRPDIDINOUDMWNER

Q.3

Q.4

Q.4

>Om>» OWP>POT>

Q.5

O




Seat No.: Enrolment No.

AU 2svlelwsd yRar(ldl
Qi (si) A¥R-1 wlaw Ayl — 006

RN 818 : 33000 [y wienss 0t — 4 ((Alsu)
Al 190 [ 01 [R00k ¥y : 11.00 9l 13.30
AL 56 981 9O
1. oty usdlel et syl $54ld 8.,
2. o33 WRUY cdl YAl Aoy QIR i,
3. opqall oy salde wisd wadl-u YL 2@ suld 8.
4. wsuorr 21091 SUNIdR UHIRLGK L8l

Yae—1q ol Aotl Yallotl scltol AU,

HssHleR g ol Ul Axndl U Aol cuLale] Yot cvll,
Yre(selstl el Yrsctiatell calvall .

ue2ldlells wGsotl Sleuel AR GUAN vl

Aol YA GUR UUR 5cll URHA sl

Aolall AeeMl Yslaloll asletclotisell carval wyl.

LASER of Y3 olld cull

SARREHL AURLAl dclloll ol W,

Ao (Ascuell wicll ol @R

oloell SIASH B. (¥, oyeat, (3.911.)

a (300 WA JEAA Yells (H, He, N)

B BRelel [@euR B. (Uot, 3Q)

ULEl Yereds 2dntoll Qauctatalsa _ GUR AwWRd B. (Do, Di, F)
scll ey oll GUlEotHl Ul B, (AR, &t-(3200)
AluMletHl aaRiell WA yadle Yrsdiel B, (clR, U2, 2 1)
1AYydle = 22 (10, 108, 109

ol Auiell slul A ol wcllol dAvll.

gsotlu cull: 30ll AR

*JEAUAR RAseRell st E2cuoll 2us@ €1

weelllells WGS Geuzt scllell Sleuel As Id aeldl

U3 Yo iRl Yl ysdlel atssl scltell At celadl

el YAl Hide] Aosets] Yot Avll el Aul Bl €35 Aomtioll Axydl 2

Y&A—3

Yai—-3

O ™ >» W N P m N O g »~ 0N P >» N O O b~ 0N PR

welal
yadlotl Yt el AAd sA T=h*r*d*g/2Cos)
AU 00 A AL RN AR cAslelcd AHAA
1. 416 da PREN
a, B At y (300t oetenll wmal
HssHleR goll attB@E ol ws@ €A
1. dluMletell SIASH LUl 2.ctul AU BAlou

Yai—3

YAy

O @™ >» O W >»

el
A Als2(Alotl AeoiHl geauHiot 3| U citiotalsd UHAA
adllaR ¥AuRel atirAE ol 2us(A 1A UA Aof c.HLAL Mecllo] Y2 cull.
1. dLHLetoll SIAsH AA 2[Qxycligatl SIASH SR
0.85x18 kg.m® tlotcllallon Ycidla 30cdl sot Ysdi yatdl 3ed Gy usA A awll. ugls slet 0°, 3| eyololl Bl =
0.20 H{l{l, yaudls] yrsctal = 0.0156 N/mcl.
ol A UR dre ¥R Do = 60AM], A YAAK iR Di = 2024 B; 3 Aroll Fosclowss ol
1. caltudl Ul WAGA Wl 2.3 Aol dRalcolsell ol galal
el
we-u A oA gafdd MR uRell He o35l oitistallsal 216l (1) Bellam o5RUU] sclMlel = 4.001265 amus() Weloto]
g Hlel = 1.007277 amus) o3j@lolo] sclMlsl = 1.008666 amul amu = 931.48 Me\:l
B Qs 21Gatdlcle] 56 2500 n? D ual doll UQEIM UHAL 2 A$S D. il SlcHl tal@Anel QiR 1660, Al Aell tellAgivel
AsH ol
C 1. ysiattl cal@selell catval U 2 AR SlBURL AR GUALN AWl

WA=

> 0O W »

Y-y

o]

1. Aol SlsE WeRall AsH cull 2. 32N Asdlel et HIR AUL-Peatslo B AR Pelotsloell Aol elad Yot cull

14

07

07

05
05

04
05
05
04

05

05
04

05

04

05

04



